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1) \ 2) 3) 9500+ 100
A=64 B ‘Name the type of angle.
Fi he Angl ide B.
ind the Angle at side Answer: Answer:
Answer:
4) Round 21.3471667 to 1 decimal 5) Find area of square 6) Round 24.95081510047 to the nearest
places. having each side (s) whole number.
s equals 7441 m
Answer: * Answer: Answer:
7) Round 2495081510047 tothenearest || 8) 'What isthe probability of rolling a 9) 10755 - 7119
whole number. multiple of 5.when rolling adice
Answer: Answer: Answer:
10) 11) Find perimeter of 12) $32.00 earning 10.3% compound
Find the next three numbersin triangle interest for 7 years.
the sequence b ¢ a=6752in b=
0112358 , , 9221in,
a €c=9279n Answer:
Answer: Answer: '
13) Round 16.1652946 to the nearest 100 14) 37 x (-67) 15)  Findthemodeof thefollowing set of data
114, 114, 114, 81, 81, 81, 81, 81,
165, 165, 165, 165, 165, 165, 2, 2,
2,2,16, 16, 16
Answer: Answer: Answer:
16) $488.38 earning 3% compound 17) 'What isthe probability of rolling a 18) 34 46+ 22 g
interest for 7 years. multiple of 5.when rolling adice
Answer: Answer: Answer:
19) Share 91 in the ratio 16:75 20) Round 24.3192995841618 to 10 21) Simplify 89:33
significant figures.
Answer: Answer: Answer:
22) Solve 1002 - 16d - 14=0 23) 99% of 426 24) 398259+ 969
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
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25) (4x 89 - (7 x 9% 26) Share78intheratio 23:16 27) Round 1055460079 to the nearest 10
Answer: Answer: Answer:
28) Increase 201 by 3/67 29) Round 22.650 to 1 significant figures. 30) Find the range of the following set of data:
8,-18,0.5, 11, -11, 6, -11, 0.6
Answer: Answer: Answer:
31) 22 x 54.5 32) 22 x 54.5 33) Find the percentage change from 130
to 455
Answer: Answer: Answer:
34) Round 18.0643 to 1 decimal places. 35) Factorise 2 + 7f + 10 36) Increase 488 by 83%
Answer: Answer: Answer:
37) 34 Mg-23 278 38) Find area of 39)
b rectangle having 40 _,, Find VVolume of Cone
sidesa=7672cm
a and b =5233 cm ‘D
Answer: Answer: 35
Answer:
40) 1813150 x 37514 41) Fectorises?+ 7s+ 10 42) Decrease 133 by Y/q
Answer: Answer: Answer:
43) 6391 + (-6898) 44)  1296.4-8210.9 45) Find perimeter of
sguare having each
s side (s) equals 6880 in
Answer: Answer: Answer:
46) Convert thefollowing fraction into a 47) Find the median of the following set of data: 48) Factorise 2 +8s+15
mixed number: %1/, 20,2, 16, 38, 4, 20, 17, 31, 23, 12,
17, 6, 36, 8, 26, 15, 21, 11, 11, 26
Answer: Answer: Answer:
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49) 50) 7 I14 51) 7000 + 100
25
‘Name the type of angle.
Answer: Answer: Answer:
52 Find the mean of the following set of data: 53) (8 + 1n ~1+4 54) 8624.3 + 638.4
26, 40, 53, 0.2
Answer: Answer: Answer:
55) Find area of square 56) 'What isthe probability of rolling 57) (-8118) ~ 82
having each side (s) factors of 9.when rolling adice
s equals 2031 ft
Answer: Answer: Answer:
58) 5/ 15 59) 3 lg 60) Write4x 102 asanormal number.
125 125
Answer: Answer: Answer:
61) 01:39 am To 07:28 am 62) A number is chosen at random from 63)
1 to 75. Find the probability of Find Volume of
selecting prime number. Triangular Pyramid
Answer: Answer:
Answer:
64) 292/, + 51219 65) Write7 x 10" asanormal number. 66)  Share62intheratio 11:51
Answer: Answer: Answer:
67) Decrease 96 by %49 68) Find area of square 69) (6x107) / (10 x 5)
having each side (s)
s equals 8870 cm
Answer: Answer: Answer:
70) Find the percentage changefrom 199 || 71) 33%/g + 198/, 72) 7 2,-2 625
to 3184
Answer: Answer: Answer:
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73) 74) 4y 13 0f 39 75)
Find Volume of
Rectangular Pyramid
37 Name the type of angle.
Answer: Answer:
Answer:
76) Round 24568520412 to the nesrest 77) 250+ 3212119 78)  (-7982) + 9699
whole number.
Answer: Answer: Answer:
79)  (-5865) + (-69) 80) 2050+ (-50) 81) Byer+ sy
Answer: Answer: Answer:
82) Convert the following fraction into a 83) 81x 10 84) 6810.4 + 2067.1
mixed number: 80/,
Answer: Answer: Answer:
85) Find perimeter of 86) Find perimeter of 87) Increase 30 by 2/15
rectangle having b rectangle having
sidesa= 9329 ft sidesa= 9329 ft
and b = 8027 ft a and b = 8027 ft
Answer: Answer: Answer:
88) Find area of square 89) 14 X (-65) 90) Find the median of the following set of data:
having each side (s) 15, 3, 10, 11, 4, 20, 38, 35, 21, 38,
s equals 9293 ft 38, 25, 4, 8, 23, 8, 6, 29, 17, 32
Answer: Answer: Answer:
91) (-97) x 43 92) 7166.8-880.2 93) 35x (-19)
Answer: Answer: Answer:
94) 95) 19 x 100 %)
37 Find Volume of
35 | Cylinder
Name the type of angle. —7
Answer: Answer: Answer:
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97) Round 12.23to 1 decimal places.

Answer:

98)

(1x2%)/(4x3)

Answer:

99)

Find perimeter of
square having each
side (s) equals 9743 cm

Answer:

100) Find the median of the following set of data:
26, 16, 20, 39, 6, 17, 18, 28, 36,
29, 30, 11, 16, 5, 33, 22, 7, 25, 38,
11

Answer:

Total: /100
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1) 116

8) Vg

15) 165
22)d=220r-06
29) 20

36) 893.04
43) -507

50) 5

57) -99

64) 551514
71) 1989775
78) 1717

85) 34712ft
92) 6286.6
99) 38972cm

2) Straight
9) /509
16) $600.65
23) 421.74
30) 29

37) 22715
44) -6914.5
51) 70

58) 5

65) 0.0007
72) 91956
79) 85

86) 34712t
93)

100) 295

3)95

10) 13,21,34,
17) Yg

24) 41.1

31) 1199

38) 40147576cm
45) 27520in
52) 29.8

59) 5

66)1: 61
73) 18278
80) -41

87) 34

94) Acute
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4213
11) 25252in

18) 19

25) 533150825

32) 1199

39) 12828.170002158
46) 4%/,

53) 29

60) 0.04

67) 86

74) 12

81) /57

88) 86359849ft

95) 1900

GEMERAT

5) 55368481m

12) $63.56

19)1:90

26)2:76

33) 250%

40) 6961%: 559

47) 145

54) 9262.7

61) 05 Hours 49 Mins
68) 78676900cm

75) Acute

82) 2%/,

89)

96) 35598.171755989

DR

6) 25
13) 16.17

20) 24.31929958
27) 106
34)18.1

41) (s+2)(s+5)
48) (s+3)(s+5)
55) 4124961ft
62) 225

69) 9375 x 107
76) 25

83) 810

90) 38

97) 12.2
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14)

21) 89: 33
28) 210

35) (f + 2)(f + 5)
42) 126

49) Right
56) 1/5

63) 9379.5
70) 60%

77) 23109
84) 88775
1)

98) 243
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